Hollow Shaft Type Three-Phase 0.4 kW Non-Brake Type, Brake Type

B Specification Chart

) Brake
Number {Number Voltage Rated current | Rated revolution :
Output| of of Freq#sncy V A r/min Protection %%?Hgi Rating | Insulation Rated
phases | poles 50/60/60Hz 50/60/60Hz 50/60/60Hz Type | torqueof |Insulation
motor torque
0.4kw Three- 4 50/60/60 200/200/220 2.3/20/20 1380/1650/1680 e;g\tgsugd masn:ﬁed Continuous | Class E Non- | Atleast Class B
’ phase (400/400/440) (1.2/1.0/1.0) (1390/1670/1700) (IP44) (JCZHgl) excitation| 150%
Note 1: The values in parentheses under "Rated current” and "Rated revolution" are for 400 V class.
Note 2: The protective construction for the brake type is IP20.
.- Zz Output shaft [Allowable output shaft torque
Motor | Actual | 2% % Ee\?gmtion 0 a lllsriEals pliipl; Drawing number
Model number |output|reduction| 85| & r/min N-m |kgf-mi| N-m |kkegf-m} shaft O.H.L. of outline
kW ratio |28 8 ; :
=8| g | 50Hz | 60Hz | 5O0HZ 60Hz N kefy | dimensions
10 1710 150 180 223 | {23 187 | {19 1920 {1961
15 1/15 100 120 314 | {32 267 | {27 1920 {1961
20 1/20 16| 75 9 405 | {401 | 343 | {35 2310 (236} [ 1]
25 1/25 60 72 46.1 { 4.7} 412 | {42 2310 {236}
CSMAO040 1
30 1/30 50 60 543 | {55} 484 | {47} 2650 {2701
40 1/40 375 45 72.1 { 7.4} 615 | {63 3970 {405}
50 1/50 22| 30 36 853 | {87 | 731 | {75 3970 {405}
60 1/60 25 30 975 | {99 837 | {85} 3970 {4051}
40 1/40 375 45 820 | {84 690 | { 7.1 3970 {4051}
50 1/50 30 36 102 {104} 860 | {87 3970 {405}
—— 04 22
60 1/60 25 30 116 {11.8} 980 | {100} 3970 {405}
75 1/75 20 24 138 {14.0} 121 {12.3 3970 {405}
90 1/90 16.7 20 167 {17.0} 141 {14.4} 5320 {5431}
100 1/100 15 18 184 {18.8} 155 {15.9} 5320 {5431}
HCMAO040 2
120 17120 12.5 15 197 {20.1} 167 {17.14 5320 {5431}
28 | 4 |
150 17160 10 12 240 {245} | 204 {20.8} 5320 {5431}
180 1/180 8.3 10 270 {275} | 230 {234 5320 {5431}
200 1/200 75 9 280 {86} | 2b2 {25.7} 5320 {5431}
240 1/240 6.3 75 | 337 {344} | 288 {29.4 9460 {965}
32
o« 300 1/300 5 6 362 {3701 | 349 {35.6} 9460 {965}
E Note 1: The actual reduction ratio is shown as the reduction ratio.
o Note 2: The output shaft revolution rate is calculated by dividing the synchronous motor revolution rate by the reduction ratio. Calculate the
b actual output revolution rate from the motor's rated revolution rate.
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